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L. 0-025 eI selee ol U =i weorst
(1) 3ffeors =g (2) uftenter =1gi-
(3) AWM =i (4) & FEH
A neutron having encrgy of 0:025 ¢V is a/an — ——
(1) Thermal neutron (2). Epithermal neutron
(3) Fast neutron (4) Slow neutron
e e
2. wft AT SEgE g9 AMHEEE e, I

(1) 9 AR
(2) CIFEl & dushia 399 AT MR
(3) T w1 HEA o T IR
(4) Tl TR

Transfer of heat from a body at low temperature to a body at higher temperature is

(1) impossible
(2) possible by keeping both the bodies in contact

_(3) possible by doing some external work
(4) None of the above

3. eI HHiasRH yaviia arRana wors
(1) sEvEHd= 3R disal
(2) oAl aviEa <AaH e
(3) &5 yEuEmd= I=ad FAG
(4) alierdehl AT
The minimum audible frequency of sound means
(1) threshold intensity of audibility
(2) lower pitch limit of audibility
(3) upper pitch limit of audibility
" (4) None of the above

-

4. f M B
(1) nfeae wHie S (@) wEEgH vl
(3) rh T ) T v
Diamond is a : . _
(1) Metallic Crystal ) Covalent Crystal
(8) Ionic Crystal (4)  Molecular Crystal
P.T.O.
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5. % ﬁauﬁﬁ,ﬁwﬁa - . ‘ =
IR oA RErE - (2) wown ey
(1) gorern feer=n - ©(4) T AWy

3 e : ' i :
(3) T ight ratio of e 0lloOy mainly recommends their use

The high strength-to-w! Py
in ai bile industries: oo _
in aircraft and automo (2) llght Hitanium

1)l _
((3)) 11:311: :::::)ler o (9 light aluminium _
6. WIS IO ey A SHES WS Sl Som qEn wam .

REE ST % gEm Ied A,

(1) e g aﬁ?@?ﬁ@q@ _

(2) v arfesgss M0 _

(8) wua sfcearss, fome, qﬁﬁﬂm@z |

@) s, vz, Rrew, WIS A o

reaction between hydrocarbon and

In lower atmosphere, smog is formed by the
nitrogen oxide. This interaction produces _____ as secondary pollutants.

(1) only ozone and aldehydes

(2)  only aldehydes and ketones
A3) only aldehydes, ketones, peroxyacyl nitrate
(4) ozone, aldehydes, ketones, peroxyacyl nitrate

ST rHiET B WRIgeH Toft a1 SR ‘
d.  §d gvamed W 9wy g, te mS
. TG AR FSCHATE) her,
T, IR B g g,

aﬂaﬂaﬁwﬁﬁmﬂ%ﬂﬁaﬁma@%q
(%)) ::aw R (2) wEd F M F
, 9 3 - ' (4) e % M T

Amoeba is a protozoan animal becayge
:, ft15 a cellular animal without tigeye and organs,
. itisthe Sll'np¥est and most primii;ivé of éll 'aMaIS.
& pgeudopodl'c_l I8 present for locomotj
d. it is a pore-bearing iy, ° -

Which of the statement/s given above s Jar £ 9
. e correct ?

(1) Onlya
(3). Onlya,bandec (2) Onlyaandc

FoedT HTHATS! ST / SPACE FO,W) Only c and d
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5 wlalie g ghed

it I |
(1) e & aniftr = (2) ad % M2
(3) e 3 anfYy % (4) Al &

Choose the correct palr/pmrs of the ammal/ammals and their scientific
name/names ?

a. Asiatic lion — Panthera Zeo persica

b.  Royal Bengal Tiger — Panthera tigris

¢. ' Indian Rhinoceros — Rhinocer_os unicornis

d. Thamin Deer’ — Cervus eldi

Answer Options : ' % _

(1) Onlybandec % "~ (2) Onlycandd
(3) Onlyaandc ¥ (4) -°All of the above

- 9. Gﬁﬁﬁﬁwwﬁwﬁmﬁmﬁ aﬁﬁm@ﬁmwm?

H. TR it : q. I9FEL R |
% wEE 5w (SsRowmh)
1) wFREARE | (2) W W

3) wEH 4 WS

Which of the following animal group/groups was/were the first vertebrate to become
adapted to life on land ? 7

a. Reptilians . b.  Amphibians

¢. Mammals - d. Aves

Answer Options: _ _

(1) Onlycandd = ~ (2) Onlybandd
(3) Onlya ~ (4) Onlyb

AT SIS ST | SPACE FOR ROUGH WORK R PTO.
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‘Wﬁqﬁh;a:ﬁﬁmﬁ?ﬁm @) Fomgggy
@) Shom, gy

(3) Fret formad | classification SYStem of plang 9
Who discovered the naturd (2)  Bentham and Hooker
(4)  G.M. Smith

11.

(1) Theophrastus
(3) Carl Linnaeus ' .
TR A ey
(1) wrRefrar g Rew x fi o i | -
(3) vRAT wgh T ; w reReiicy
Which of the following is the causal organism of Wheat Rust disease ?

(2)  Xanthomonas citri

(1)  Puccinia graminis tritict ' e
(3 Puccinia purpurea (4)  Plasmopora viticola

12,

SR grefefer sore reierieh) T SHCPAE T 2 |
(1) *eR W(z) e~ @ wmw . @) R

In Agriculture, groundwater is tapped by :
(1) canals (2~ sinking wells  (3) - ponds

(4) tanks

13.

@aﬁaﬁ:ﬁaﬁmﬁaﬁé@ﬁa%aﬁﬁaﬁé@fmwaﬂa@ﬁmﬁ?
(1) LDL®l=td - (2) 'VLDL e

(3) LDL 3 VLDL #remtel (4) HDL Feee

Which of the following cholesterol is c':ohsi‘defed as good cholesterol ?
(1) LDL cholesterol : (2) VLDL cholesterol

(3) LDL and VLDL cholestero] - "~ "(4) HDL cholesterol

14.

St ) (1) oy v e g . e (s

faehrren) #m v 2 T SR g, TR W & S

(1) Az Aferm |

(2) wyHz 3fafiey

(3) ot qyig

(@) TF-5gfer sracifim g ey

When kidney tubular reabsorpt; | st
. ' ol thi

oy B, c(;ll'{;:;o;:l fails, copious urination follows. What is this

(1) Diabetes mellityg . | |

.(2) Diabetes insipidyg -

(3) Juvenilg onset diabetes

. ) Non-insulin .
;:Tmm"r IR / snw::pem{mt Jiabetes mellipus
el il FOR Rouygy WORK
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15.  wreftadshl Hivd o disare et sm 2
: (1) «foeE Feme-quiE
(2) afem '
(3) HTeh
(4) TS, TMET, Tl
Which of the following vaccine is administered by oral route ?
/Ll)' Bacillus Calmette-Guerin
(2) Sabin
(3) Salk
(4) Mumps, Measles, Rubella

PP —————————————
9§ el el AR 17 $ot g Uleedl. SR HGU 24 T S, T
wewes TRt B B 7 :

(1) 415 _ (2) 362 - (3) 346 . (4) 326

A devotee, while going to pray in the temple, put flowers on each step that indicated
its number. When he offered 9 flowers to God, he had 17 flowers in balance. If the
temple had 24 steps, then how many flowers did the devotee have ?

(1) 415 (2 362 . (3).346 4) 326

L7 st e e i e o, @ SR e anfr 30 A S w A
e F@ar anfor 20 b waTE Y. g1 A Sl awal 40 F53A. TE® F@..
g@ﬁsaaﬂﬁaa?ﬁanﬁr%ﬁﬁ.rﬁ.mm.mmaﬁﬁgmmaﬁ%?

(1)
(2) A
(3) "AwcA

4) cfem | |
Srikant stands facing north on the ground. He turns right and travels 30 km. "rhzn-
he turns left and travels 20 km. Again he turns right and travels 40 km. Again he

s right and travels 35 km. Which direction is he facing now ?

turn
(1) East
| (2) North-East |
(3) South-West ; . %)
(4) South ; ﬂi/
mm@m:spmsmmouawonm | T8 ;\%\& Q:P.T.C?.'f
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18. @ﬁammﬁmﬁﬁﬁwmmm,mwmﬁm

tfi e @l -
. 3 e e A 9 I
gt I | '
2) FIT (3) HA4AE. {42___'333'-[
(1) 3% of five statements followed by several options

i ion consists ) : _
3;1':; i:‘:ililogw;?% hgzsszé‘:;ements put together in a specific order. Choose the option

which indicates a valid argument'i.e. the third statement is a conclusion drawn from

the preceding two statements.
Statements :

a. Amitis a boy. ‘
Some boys do not play cricket.

No girl plays cricket.
Amit plays cricket. - ,
. All those who play cricket are boys.

Answer Options :
(1) deca - (2)

19. T 100 freneten Fid 40 frenel nfma sl st SR 60 frnefl SRt T T,
- 8 ferameff w1fora & Srft 1 22 forwemar agefivl gy, ax Reeht feremefi G forwama 3<finf @med 2
(1) 5 _ - (2 15 7 3). 8 v (4) 16
In a class of 100 students, 40-students passed in Mathematics and 60 passed in

English.. 8 students failed in both Mathematics and English. How many students
passed in both the subjects ?

® e o

ceb "(3) abd (4 eda-

S @ 15 3) 8 4) 16

20. WWBW,W X : ; '

| e, TS }mmm*"’ﬂﬁfﬂ?ﬁawmm.maaﬁqﬁwmw
ol . 2 @ 27 4) 28

There are 8 points i . _
joining two pI;infé' tllz * Plane, no threg of which are collinear: If lines are drawn by
o » OW many gy0p lines woyld be drawn ?

1
-

(1) 25

mmmﬁm:smceWm 27
- R o X698
Ve

(4) 28
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21. ﬁm%manmﬁam 5_ ff g3 i, LHUE
mmmmmaﬁmmaﬂ, i
fogerean wreareman Rt A g2 arier
(1) 10fEfR ) 13 fafe

. Niraj’s watch is fast by 5_1_ ‘minutes NN I\!\\

35 seconds per hour. If theiy watchud l!l|||lll‘|1\'\\
morning, then by how many minules wnnh’l e

~ watch that night at 12 o’clock ?

e 2) W)

10 minutes 13 minutoed

et g wl TR -7y e AN
Treres, ik, ferenfed seht

| @ @
>

By which Venn-diagram qén the given e

22,

&
O

S (4) @t\

()

3

- Teachers, Writers, Married persons.

-~

C

ff.-.

W @

—

—

(3) (4)

o

\H

23. WA=1,B=2C=3,..
' (1) 7-15-6-4-20-12-8-5-18

(3) 7-15-4-6-2-10-8-5-18

IfA=1,B=2,C=3, AY Whater
< (1) T-15-6-4-20-12-8-fj- )%

@)  7-15-4-6-2-10--f- |y

T SRS ST | SPACE FOR fiy W

Z%F

\

aaaaa

0 b='-,'“'-5"'
iR

[]‘“ n \“I\ L\‘l‘r

s DT ’“-“‘\-

'\'\'.1-

‘” “\\ \\\ A

e 7

00 t’Lnd

P t——e——— T W

5% =Y ST
' ors increased by 40%.
ntry fee is
(4) 5% decrease

P.T.O.
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21 Frrd wea T Rewm 5% fifR q@ o, ¢ R e AT 35 d T ey, o
Qe THE TS T WA wiaw ), W A e wh 12 = e v

fogw=n usaremia A R 3@t ?
(1) 10fafR (2) 13 e 3 9ff (4) 14 fuf
Niraj’s watch is fast by £l : - i i ;
by 55 minutes in a day. Piyush’s watch lags behind by
35 seconds per hour. If their watches indicated the same time at 8 o'clock in the

morning, then by how many minutes would Neeraj's watch be ahead of Piyush’s

watch that night at 12 o’clock ?
(1) 10 minutes (2) 13 minutes (3) 9 minutes (4) 14 minutes

22. TR VSIS WY FOR 39-37ey grafiyan et 2
e, W@, faatea st

.(1) @ (2) OOO
%ﬁ)

By which Venn-diagram can the given sets of words be shown ?

- Teachers, Writers, Married persons.

w @ 2 50
w
3) (4)
O

| Z = 26, ® ‘GODFATHER’ & vreg a1 et ?
(1) 7-15-6-4-20-12-8-5-18 (2) - 7-15-4-6-20-8-5-18-18

3) 7-15-4-6-2-10-8-5-18 @) 7-15-4-6-1-20-8-5-18
’ ' ?
IfA=1,B=2 C=83, ..., Z =26, then how will you write the word ‘GODFATHER"?

(2) 7-15-4-6-20-8-5-18-18
7-15-4-6-1-20-8-5-18

28. WA=1,B=2C=35, ...

< (1) 7-15-6-4-20-12-8-5-18

(3 7-15-4-6-2-10-8-5-18 - (4)

Foed] HTTATS! ST / SPACE FOR ROUGHWORK ¢ £76 &% 5 10 U1 12—
- ' ' ' DECGH AT L

P.T.O.
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II. éq:ﬁn@amﬁ“‘?ﬂ.‘
Tx?w&maﬁaﬂﬁﬂgaﬁmsz
@) Hawmmlgwﬁﬂg@m ;
a.namaﬂ%‘,‘fﬁlgaﬁmwmﬂ

(4) TR T R A e . |
. | ive to read both carefully
. ion, events I and II are given. You have :
In dth; fo‘léowizi iiuzsat:tj:e of relationship. You have to assume that the given
an ecide :

information in I and II are true and decide the correct answer.

Events:
L Mr. Hari was killed in a fire.’

II. A fire broke out in the company.

Answer Options : ' _ _

(1) Tis the effect and IT is its principal cause.

(2)  IIis the effect and I is its principal cause.

(3) IIis the effect, but I is not its principal cause.
" (4) None of the above is correct. -

25. @Fﬁaa@mﬁﬁmmsﬁm
’ 343, 324, 3375, 10648, 64
(1) 64 (2) 3375
(3) 324 (4) 10648

Find the odd man out from, the following numbers :
343, 324, 3375, 10648, 64 '

(1) 64
@ 35 . (2) 3375

: . (4) 10648
P HHTTS! SR / SPACE FOR ROUGH oy -
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u14 sgaEaan AT Tzt mfiecht et s

) ;i ST,
81,  ugw TR Aeon T 55’% e
& 2o1s wh aea 1% gz Al '
aren 39827 51401 T HSTT,

5. 2018 ®d
7. 2018 7 MR 00 oga SRR ST (2018),
T S A 9
aﬁaaaamﬁ?ﬁaﬁﬂm @) I, F g
(1) $F A, * (4) afa g4
(38) e o, H A0S  of the National Crime Registration Department, the
According to the rep([;;'ld Crime is as follows :
} sexually abused every day.

information related to e
aar S g children Were:
In the year 2018, 1(}s ety reported i 2018,

ncidents of rape of girls.
f rape on children occurred in Maharashtra (2018).

a.
b. 39827 such incident :
In 2018, there were 214011

c.
d.  The highest 2832 incidents L
Which of the above statements are cor !

(1) Onlya,bandc | (2) Onlyb,candd
(3) Onlya,candd (4) All of the above

32. ew frm fm @ @it _ 7l e oA e S S At wi

wgH fraw FHeA (NACO) W SHies@el STl.
(1) SRarE $ed FEeE g9e
(2) ¥R T Fga HAM T
(3) T T e FrEw
(4) TEE FEm fEEm FrEiEy ,
Department of AIDS control has been merged with
known as National AIDS Control Organisation (NACO).

(1) Family Planning Association of India

(2) Department of Health and Family Welfare
(3) National Leprosy Eradication Programme
(4) National TB Contro] Programme

33. W,W,maﬁmmmwmwmﬁ*

and now it is

(3) wemg -
(4) famr

The schools, colle : a
A €S, universitie ns may
Versities, educational as well as private institutio

witness historica]
: places. : N
that decided to set up ‘Jaiﬁre:&it,}fs alm in view, which is the first State in India

(1) Rajasthan ,
(3) Maharashtra (2) Uttar Pradesh

(4) Bi .
FTHT FEITS SR | SPACE FOR ROUGH o ihar
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84.  ifigR Fifd ey A1E A9 Fn wrefersam A3 -
. A9 a2 s aEe
9. EETEEfEd A% e 3 e a s @
F. TS HEEA B G ey e geafafd g9t frerged @ s,
5. foe e SR A e el
FEATH! HITA AT HTF /3R 9
(1) Wad 7 91foy = (2) ad @
(3) Wad A, & HIT g (4) affet$l vk A A
/i'ollowing is the work of Dinabandhu Sahu, honoured by NIRI :
a. Abook of Farming the Ocean’ on sea algae.
b.  Production of short film ‘Biodiversity of Life’ based on Mary Kom.
c Fellowship and Research in International Society for Energy Environment and
Sustainability.
d. Sea farm training based on Project Chilika.
Which of the above sentences is/are incorrect ?
(1) Onlyaandc (2) Onlyb
(3) Onlya,candd (4) None of the above
85. S1Ee-30 =t Wicficrash! HIv AT 3R ?

#. a99 - 3357 kg
7. I= UEEEl 3, AR 9 JER0 Ha QUi
% 124, 12 %7 &g grATFSt 4 gas

T, 3= A 33UER 398
Coipies ol

(1) % 3 0 F (2) e W MM 8
(3) %ad ¥, &F A0 2 _4)  Fheud |d

Which of the following are characteristics of GSAT-30 ?

a. Weight - 3357 kg )
b.  Provides high quality Television, Telecommunication and Broadcast services

¢. Equipped with 12C, 12Ku Band Transponder
d. High quality communication satellite
Answer Options :
(2) Onlybandd

(1) Onlyaandec
(3) Onlya, candd ~ (4) All of the above
P.T.O.

e HTHTATS! ST / SPACE FOR ROUGH WORK
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36. Tl Faiye fafEd © fem =
R ? (2)
('il'a’} 'EW'- (4) EREHTS am
(3) weEErRl written by Sonali Navangul has won the ‘Marath;

ovels 17
2021 (2) Dream Runner
(4) Madhyaratrinantarche Taas

Which of the following ’ﬂ'n
Sahitya Akademi Award’ 1

(1) Swachhand

(3) Prakashvata
/ . # <
o %(ZOIQ)MWWWWWW
37. srfwrarda qERl -

ggiEt I :
(2 8,49, a,%

1) %,9,3 &
3 T, %9 H (4) %,9,31, 8

Winner of the Nobel Prize for Economics (2019), Abhijeet Banerjee’s life Journey till
date is given in points below. Reorder them and choose the correct option.

Contributed in preparation of Scheme Nyuntam Aay Yojana (NYAY) for
poverty eradication in India.

b.  Written a book titled ‘Poor Economics’.

¢.  Received the Infosys Prize.

d. Studied economics at Presidency College, Kolkata.

4.

Answer Options :
(1) e¢b,d,a (2) “d,b,a,c
(3) d,e b, a (4) e, b,ad
‘__-—-___-'-——-——.________
38, 2021H@%ﬁﬁmwmmmmmw ?
(1) gillﬂ!ﬂ e .
IR (2) 9o W AT 2 3
(3) H?réﬁmtémmagm (4) é‘ﬁq?ﬁ’aﬁ?
Lionel Messi wasg lect o
e selected for which of g, following awards in 2021 for the seventh

A1) European Golden Shoe
(3) World Soceus Plaen the v (2) World Player of the Year

(4)  Ballon ¢'Or
FTRT FIHIAIS! ST | SPACE FoR ROUGH Work -
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¥, UUH.INE. 99
9. Ol SRR SHedh gl
%, wiie et ff iz g :
5. fowroms oSy, fow., s figs
gt I
(1) a3 M7 | (2) A & M1 g
(3) Head ¥ (4) ek H
On the eve of 75th Independence day, who was honoured with the peacetime
Gallantry Award — ‘Ashoka Chakra’ ?
a. ASI Babu Ram
b. Police Constable Altaf Hussain
c¢. Lt. Governor Girish Chandra Murmu
d. Governor of Mizoram, P.S. Shreedharan Pillai
Answer Options :
(1) Onlyaandb (2) Onlycandd
(3) Onlyb (4) Onlya
40. ETeAd [99H FETd =4

T ngwmmmmwmmmmm

Hlz.
afieridl Fm faum/faad fes AR/emed ?
(1) % A (2) W&«
(3) & @iy @ G (4) SRl o) e
Consider the following statements : :
a. Kiwi is India’s first certified organic fruit. '
b.  Arunachal Pradesh is the first State in the country to obtain an organic

certification for its Kiwis.

Which of the statements given above is/are correct 7
(1) Onlya - ' (2) Onlyb
(3) Bothaandb (4) None of the above
) PITO!
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41, wum s sara d (
Yt i e g ‘ (2) 128.8 vy
(1) 681 @@ @ 1092 s
(3) 1658 €@ - \was Yojana (Urban) (PMAY-U), as on 1gth January, 2021
Under Pradhan Mantri e been sanctioned. |

houses have @ 128 Ak

(1) 681 Lakhs 4) 1092 Lk
(3) 165-8 Lakhs

P mmmmmﬁ“ﬁqmmmﬁmﬂwﬁwm
s fge B S @i e E‘g_] Ll
S @) 2016 (3) 2017 (4) 2018

: . i Chaturvedi, Bhawana Kanth and Mohana Singh create

}II?S ::;E;c}l;;’iﬂe‘c’oﬁ?ngzﬁ ﬁrs? women pilots to be commissioned into the fighter
stream of Indian Air Force ?

43. WWWWWWWWW—57WWWW7
(1) & (2) TE (T, 3R.30.)
(3) #H.w.ium. (4) & :
Which Space agency has launched the first all-electric experimental aircraft X-57
Maxwell’ ?
(1) LAPAN (2) ISRO

——
44, oA A, - .48 (PSLV - C48) a1 wiyepreny
HISHTG WRATgR 11 fedam, 2019
HTeTl ?
(1) RISAT - 2BR1 (2 EMISAT
(3) CARTOSAT - 2B
@) GSAT-31

Which artificial satellite wa ;
PSLV - C48 launchor? launcheq 1y, India on 11*" December, 2019 through

(1) RISAT - 2BR1 oy
(3) CARTOSAT - 2B MISAT

(4) GSAT- 3
e SIS ST | SPACE FW 2

Scanned with CamScanner




—

c
L u14

45. gﬁmm_mmmmammammmm
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. G TR — T B o) e e TE AR .
9 A 16 w0 R wnfee wiverr steae,

F.  hdfferh THTeTET fRan,

3. gl A @S e e,

it I

(1) &, 8, § AT

\(2) g, &, A AMF

(3 %, 9, I M S

(4) B, A, T AMH

Select the righf option regarding the Chairperson of 93" Akhil Bhartiya Marathi
Sahitya Sammelan, Senior Literary Author and Thinker, Father Francis Dibrito’s

life happenings till date.

a. National Award for translation of ‘Subodh Bible — Nava Karar’ book by Sahitya

Academy.

b.  Chairperson of 15th Marathi Christi Sahitya Sammelan in Pune.

¢. The ordination as a Catholic priest.
d.  Chief Editor of newsletter ‘Suvarta’.
Answer Options :

(1) e¢,d,banda

(2) d,c,aandb

(3) ¢, baandd

(4J d,a,band ¢
P.T.O.
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gtz qifEd.
F. mﬁmﬂgﬁmﬁwmmm'a”'minaf“mﬂwrmwmm?@rﬁ
mﬁaﬁamﬁaﬁag;?;‘ami?aqu -
Fhedh qET -
(1) qmﬁa?a%mﬁfz: ga A H 3) BHEFafr e  (4) W, W R =
'._-—'-’

; ' sing statements &

g onslﬁfg 1;:)(;{ sz"ot;lglgarpanch (who 18 electedl by the maBereof Gk Mol s
or Upa Sarpanch, as thp case n:?ly e . of RSP 0
resignation) shall be filled in within thirty days from the date of cock e

b.  The post of the directly elected Sarpanch that has fallen vacant shall be filled
within three months from the date of such vacancy.

A member of a Gram Panchayat whose post has become vacant due to ab o
for continuous meetings of the Gram Panchayat shall not be eligible for

re-election. ]
Which of the statements given above is/are correct ?
(1) Onlya (2) Onlyaandce (3) Onlybande (4) a,bandec

mmmmﬁwﬁammaﬁm’éﬁtﬂwmmmﬁmm
=7 : .

47.

7. mﬁmaﬁ?ﬂaﬁamwd@nmﬁmww ' _
Rk mﬁmwﬁﬁamﬁﬁmmmmﬁsﬁmmm

aHEE 7 foa e
Com o e e
(1) %94 &, 9, % a7y g :
A o

Consider the followj
OWIng statements about the provisions of the Village Development

a. The total number of
_ members in 4 Vj e
: Ie;f ]téintieven o i e 91535; E):\ elopment Committee shall not be
) N an one-thi i - l
ird of jtg members shall be from amongst the members of

¢.- Not less than gpe ]
-half of ]
d. The Deput 181 of the mem by
eputy Sarpanch shal] pe its eifzf?i};?(ilcllﬁ'women.
irman,

e.  Gram Sevak shy| be i
: < e its ex-offici
(IW;hlcl'cz) of the statementg given ah, 1:?10 member—secretary .
nly a, b, ¢ and ¢ Ve are corpect 9
(2)

(3) Onlya,b,cand e Only b, ¢ and e
PO BTATATG! SR | SPACE FoR ROUGH Wome 4) " All of the above
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The ‘Sarkaria Commission’ favoured

(1) abolition of the office of the Governor
(2) abolition of All India Services

(3) abolition of Inter-State Council

(4) None of the above

49. T=I=A wEaFEE Erefted S faye a2
(1) @ Tarea Wt aftds $een s sen g T Ik,
(9) =re aEYE T fafidesr fiftm S 9w,
(3) mmﬁﬂmmmqmaﬁawm@m.
(4) SHEaH Tl ATE _
Which one of the following statements is correct about the Advocate General of the
State ?
(1) He shall hold office during the pleasure of the State Council of Ministers.

(2) His remuneration is determined by the State Legislature.
against the State Government for a

(3) He may appear as an advocate in cases
—~  private party.

}J— None of the above |

.50. f3umA (F): mw&mmﬁwﬁﬁﬁwmwmﬁmﬁam.
FROT () : Wmﬁm%mwﬁmﬁmm
(1) ‘H’ﬂﬁ%’i@ﬂ'@ﬁaﬁmaﬂﬁi‘a’%‘aﬁ%aﬁmﬁmaﬁ.

(2) ‘#m%’aﬁaﬁm,q&@‘a’%‘aﬁémmmﬁ

(3) P 3 i R, T R TR AR

(4) ‘a’%gaﬁ%‘m,qi@‘a’%aamaﬁ.

Assertion (A) : Legislative control over administration in a Parliamentary system is
different fro

m that of Presidential system.
An important feature of democratic government
control over administration.

(1) Both ‘A’ and ‘B’ are true and ‘B’ is the correct explanation of ‘A’.
(2) Both ‘A’ and ‘B’ are true, but B’ is not the correct explanation of ‘Al

(3) ‘A’istrue, but ‘B’is false.
(4) ‘A’is false, but ‘B’ is true. N e
P.T.O.

e HTATTA ST | SPACE FOR ROUGH WORK

i islative
Reason (B) : is the legislativ
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51.  ‘ard fadempr aradid . gral.
s, v fn o @ TR o
. awmmﬁmvﬁﬁ'am” it ATE ST I 3fEa greary e Fot s
% v fade o s S
S, | i @ T 0 e e e anfor o
3. W ard umEmed ¥
gfigz=h g-gﬁ; Az Fied T '
gt I : (2w
(1) e 3 ol o . W e 2
(3) e 3, q 0N H ‘ ’ .3'|' .
Which of the following statements related to ‘Money Bill’ is/are correct ?
a. It can be introduced either by minister or by a private member.
b, It cannot be introduced except on the recommendation of the Governor.
c.  Ifany question arises whether the bill is a money bill or not, the decision of the
Governor is final. P
d.  In case of a deadlock over a money bill, the Governor can summon a joint
sitting of Legislative Assembly and Legislative Council.
Answer Options :
(1) Onlyaandb (2) Onlyb
(3) Onlya,bandec (4) Onlya,candd
e Wwwﬁmmﬁwmmmmm IR
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F. U
z mmaaajs RG-S oy T FrgafeAd! WO JAAE e .
: mwaqu@aﬁ%mmﬁwnﬁaﬁamﬁ

yufa.
e B At (2) A A, F AN E
(3) wad 9 Ifor % @/aﬁaﬁﬁ

Consider the following statements with reference to Maharashtra :

. _lela Parighad may meet as often as may be necessary, but one month shall not
intervene its last meeting and the date of its next meeting.

b. The President of Zilla Parishad shall call a special meeting on the written
request of not less than one-fifth members.

C. E"very meeting shall be presided over by the
Vice President shall preside over it.

d. In the absence of President and Vice P
over by the Chairman of subject committee.

Which of the above statements are correct ?

(1) Onlya,bandc (2) Onlyb,candd
(3)  Onlybandc (4) All of the above

President, or if he is absent, the

resident, the meeting shall be presided

54. ; .
(1) mmm&ﬁmﬂ

(3) @z aad g T =yt
(4) g afEd T EICCIHIE]
Generally, the High Cou
(1) nine other Judges

ts of a Chief Justiceand ___—-

s may be determined by the Governor

(2) such otherd udges a .
(3) such other Judges as may be determined by the Parliament
(4) such other Judges as may be determined by the Pre%
. i P.T.O.
R ROUGH WORK
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u14 : v
) wemmafud fafay afien e Fen gen
55. T ffiffieht smerl @ w5 an @refledehl Hoft wm et ?
T Fevgfavas fam afdfis sree mE
v . (2)  SreaTdt Fomardt s
(1) =T #ff.3m. srfags 1. %, o
3 . ez vER (4) = %.um, | to deal with different
The Constituent Assembly appointed a niimber of cOmmltties‘- D of the Rules of
tasks and works of Constitution-making. Who was the Chairman
Procedure Committee ? :
(1) Dr. B.R. Ambedkar A Retshnaswagibey e
(3) Dr. Rajendra Prasad @) Dr. KM. Munshi
56. I Sren o
= a
5. T ER dvge L feafie :
F. EEE S g I gAfariese e |
S HEN gist Fy 55 IV. 3 areeem
TS Iy |
< T 3 <
A m IV II I
(2) 1 111 IV |
3 I I11. I IV
(4) 1III IT v I
Match the pairs -
A B
a.  Balshastri Jambhekar I. Establishment of Widow Home
b.  Gopal Harj Deshmukh II.  First Supporter of female education
c. Mahatme-l Jyotiba Phyle I11. Congregation for rémarriage
d. Maharshi Dhondy Keshay Kapye v, Orphanage -
Answer Options ;
a b c d
(1) 1III AY IT 1
(2) 1II 111 v I
@) 1 1 ST v
|

(4)  1III II v
G BTTAIST ST | SPACE FOR Rougn o
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59. Ao dursh wrae @i P (2)  wuTER
(1) HHr=R FgE (4)  FTIHTI - o
(8) dHEy ented the questions of workers in which o e
=% de pres
Narayan Meghaji Lokhan
following newspapers ? o (2) Prabhakar
é;j) ]E‘;amal:-.ha;h(;hﬂ“dn P (4 Dnyanprakash
eenban
0
60..  Sreirer e W § L ‘Efgey qemr b
j‘ 'gl”’g[m'“a'é 1. Frosfa damemh o
EF' : R IIT.  9mEr g = wgqra=1
v S Iv.  ‘fég it dorer dera’ <ft wame
gt I
& a & s
(1) I I v I
2 1 v 111 II
A3) III Y I II
(4) IV II III I
Match the following :
a. Pandita Ramabai I.  ‘Stree-Purush Tulana’ Book
b.  Ramabai Ranade II. Establishment of Nirashrit Seva Sadan
c.  Tarabai Shinde ITII. Establishment of Sharada Sadan
d. Janakka Shinde IV. Establishment of ‘Hindu Ladies Social Club’
Answer Options :
a b c d
(1) II I11 v 1]
2y ¥ v II1 II
(3) III AY I I
4) IV I . III 1 :
A et R R e o o e ————
3. - . ot feo
#F.  FIdl 999 qrEn g' L
zﬁﬂﬂﬁ W%W/ﬁuﬁ T 372/ 3772 9 _
T 3 q
(4)  ®d 3, & Iy

Paramh :
amhans Sabha was establigheq at Mumbai in 1849 ang gave the emphasis on the

following reforms :

a. Widow R i
&?hi }?r?agv 1;h:33 %Z:;;agzrrier 3 1XVOmen’s Edueation
¢h of the statements gi . . cceptance of | :
(1) Onlya and b oo ls/are( é:;)rr%‘t;? b e
nly b and ¢

(3) Onlyec
' (4
FTed] BETATS! R / SPACE FOR ROUGH - ) Onlya,candq
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3. s%qum ‘T&?ﬁﬁmﬂm:ﬁqs%mﬁ:
S 21 UsREY fy,
®. ¥R vanay
S W e
gaiet 39y . T .
) —"Fdq § (2) hdd =h ES
The first Aviation Company t} )
any - ] § a .
;l/' Indian National Alr'v:;};ﬂl was started in 1932 by an Indian Industrialist was :
. - Tata Airways Ltd.
(ci. Imperial Airways
. Indian Trans-Contj
x nental Aj
Answer Options : s
(1) Only a and b
(3) Onlyb (2)° Onlycandd
(4) Onlya
58. ‘T ms=t ITN ; , )
; =l SETAATS I A YT IAq T JER HeAl UIiES, Feda SHen 2 A
qroga @ I3 v 9rd.” o T 0 B
3. . WigRE M.
g, FEgd UHs
%.  =EHd deT
T 2. HACHNH 9igll aEst
gt I

(2) od & i1 &

(1) hed 31 A0 €
(4) hed H

(}33’ Thdd S

“For realistic progress of the nation, pro
long as religious awareness is happening,
This opinion was of

a. Dr. Bhandarkar G.G.

b. Justice Ranade

c.  Justice Telang _
Dr. Atmaram Pandurang Turkhadkar

gressive religion should be spread out. As
till then realistic success is not achieved.”

d.
Answer Options :
(1) Onlyaandd (2) Onlyaandb
(3) Onlyd (4) Onlya
ORK P.T.O.

Feel
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1) Iv 111 11
(2) III IV I
3) II I 1\
4

’(/.) v I 11
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u14
62. wﬂﬁamwﬁmmammuﬁwﬁmm '

L;
I1.

111
IV.

IT
I11
II1

e 3fem 23 A Fiem ofed sy
Tgra Aat I A B T wopn

Match the following regarding and emergence of Indian workers and Labour

movement :

a. Narayan Meghaji I.  First President of All India Trade Union

_ Lokhande Congress

b. Mahatma Gandhi II. Establishment of Madras Labour Union

c. B.P. Wadia III. Establishment of Ahmedabad Textile
Labour Association

d. Lala Lajpat Rai IV. Placed the problems of labour through
Deenbandhu newspaper

Answer Options :

a b [ d

(1) IV 111 II

(2) III v I 11

(@) "Ml ey v I11

4 IV I II I11

P.T.O.
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' Corarre/Fe R ATEEA ?
e ¥, fegrame awft gaiaR TS ' maﬁ&ﬁm@aﬂ%

u14

. omiftfe faaromges SIS Gt TG A
: wraT anfide o & weviara AR, R
:=,'.' memmﬂm@maﬁw
vl w =
¥ i o - X - ﬁf{\,
(1) W =g g gl tA8 WUSATA sifagied  wirpfaaaTl TS B GIEE

(2) =i v gy dTd sffaEied WY =g o WW T3 B 2IHE
(3) wirefRaarE My WY 95 qd =TT 12 gt s ATFHSA
&t FvmE — o '

(4) =rEgdl =2 Alefgaandt AT ffagisd @9 A A

‘ T Bl JwE

; g 1ali on
Who made the following thoughts/statements regarding the effects of colonialism

Indians ?
a. Indian economy ran overseas. ' "
b. Due to economic abstraction, world known enriched India became poverty

stricken.
¢. An exploitation of Indian economy is like Ransom.

d. By taking sword in hand it is time to manage our businéss.
Answer Options :

a b c ' d
(1) Ramesh Chandra  Justice Sir George Lokhitwadi Gopal
Dutt Ranade Oxenden Hari Deshmukh
(2)  Justice Ranade Sir George Ramesh Lokhitwadi Gopal
8 Oxenden - Chandra Dutt  Harj Deshmukh
(3)  Lokhitwadi Gopal Ramesh Justice Ranade  Sir @ O
Hari Deshmukh Chandra Dutt ' S e
(4)  Justice Ranade Lokhitwadi Sir George Ramesh Chandra
Gopal Hari Oxenden Dutt
Deshmukh .

64. 2N Ao T4, ¢ 3 - AN
mmﬁ%%%m%wm ST e s,
(1) i s @) e TR ey wafay
(3)  ®I98™ Hyvf Jeqrey . (4) HW s

According to Dadabhaj Naoroji ‘What was

, that could generate
o= Vit more :
in the blanks with the givey, iight opt‘fsznonnc d

(1) Handicraft production

(3) Entire cotton production ‘ (ﬁ;/ ;ndian'currency
71 FTAIATS! ST | SPACE FOR Royg, Wore Otential supp)y,q
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' fere 8. g, g

(1) B 37 apfey 5 T a7

3) BRI, % arfey ¢ (2r wFa A, & anfn g
Which of the follgyiy (1) afer e i s
agriculture dupip § cro

1 iSl P p 0¢ u i 1 & d d t i 1 1
g Bt‘lt I rod ction increase ue to CUmmETCIallzal.[()n of
5 [ Eﬂ, H’ heat

eriod 9

o gute, Indigo b.  Sugarcane, Cotton
1ich of i
(1) '0?1 ;};eaiigtgn]ellts 8iven ahove are ccc)lllrectr[“;)bacco, i
(3)  Onlyh, ¢ and d (2) Onlya,candd
(4)  All of the above
P
6 1) Ferufe e feen g 2
(3) a'_'m-({-é‘gﬁ (2) %HI-Q‘%?L

Which a . . (4) 3fem gm o
1) Kanglej;;igwen to Pandita Ramabai by the British Government ?

5 e (2) Kaisar-e-Hindu
(3)- Kaisar-e Lady (4) Indian Super Lady

67. SIS Sasrea shidten afken T A 2

HA. & 9 g fosfen %. : c 9 ,
FeTIh! T forem/freny st smy/em 2 bl i
(1) %o HFamfrg (2) & i g
(3) SFad : (4 %5 B
Who was the first leader of the revolution of native for farmers ?
a. Baba Bhand b. Bijania ¢. KajaraSingh d. Tantya Bhilla
Which of the statements given above is/are correct ?
(1) Onlyaandb (2) Onlycandd
(3) Onlyb ; (4) Onlyd

68. AT ST GEATd WicAerish! v SeR e ?

EEICEE R E (2)  wewry snfor wfesh
(3) a7y wem aAfor S (4) =er syifor i

The Civil Rebellion began from which of the following regions ?
(1) Punjéb and Sindh (2)  Maharashtra and Karnataka

(3) Andhra Pradesh and Orissa (4) Bengal and Bihar

%ET FTHTATS ST / SPACE FOR ROUGH WORK
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(1) NH 44 (2) N
H 01 (3) NH 48 b
The longest Nationa] Highway in India i
\ ia is
(1) NH44 |
@ Ny (3) NH 48 (4) NH 06
... e
73. ﬁ@mmmmﬁmmmm'
H. Al |
L ghah
7. PeEE IL i
%, AR I fag
5. RmEE V. Eqﬂ
gt 39 ;
N E % -
m Iv. O o :
2 m I . 4
o om W
@ m IV I .

Match the Industrial Regions and Industrial Areas :

a. Nashik I.  Butibori
b. Kolhapur [I. Shendra
c. Nagpur [1I. Vinchur
d. Aurangabad IV. Hupari
Answer Options :

a b c d
(1) IV 111 I I
(2) I I I v
(3) I I W, I

11

(4) III v I |
OUGH WORK P.T.0.
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69. @Wﬁmﬂ?ﬁmwﬁwﬁ?m
9. o’ e A SO S
v i o >
qet » @ gEer T hefl

it 39 a * =
H , <

o) i  owmiw dwed
4l AT

(3) faumsa fao®e : )
(4) mfae g wfert @S TS T8 1 s :
Identify the following people who have done work for emancipation of -‘?D}Ilﬂel; 3
a. The problem of child marriage was placed in the famous Drama -_S arda.
b.  Before the Hunter Commission, the condition of women’s education was placed

in numerical data. i
‘Shardashram’ was established for widows.

C.
‘Maze Puran’ an autobiography was written.

d.

Answer Options :
a b c d
(31 Pandita Ramabai Govind Ballal = Anandibai Karve Ramabai Ranade
Pandita Ramabai Govind Ballal

“(2) Ramabai Ranade " Anandibai Karve
Anandibai Karve Govind Ballal

(3)  Vidhyaben Ramabai Ranade
Nilkanth
(4)  Govind Ballal Pandita Ramabai Ramabai Ranade Anandibai Karve

70. 1857 = TErATiNE @refierdsh v faem s e 2
. me@a(gm)wmm@mﬁwmﬁmm

a. mmmmwmwmﬁm
. mmm?ﬂ%ﬂwwmﬁaﬁﬁmﬁammgnﬁag@
S mmmwmammﬁmmmm

(1) %44 9 =77 =
(3) %% 3, F AMfy g ((i; W:;“"WETE

z[h‘_“'}"N(j,’:hthf;g‘:iﬁ‘:iggsstattf;ments are true regarding the Revolt of 1857 2
tenllered Ranes o attitude Pant Sachiy of Bhor Chi s !
b.  Rani .Bfak-ibal} gOf I\Iapqu Gupte to Britishers. mnat Raghunath (first)
; asabal of Nagpur Bhoggle Dynasty supported the revolte
. rs.

d.  Son of Rango Bapuji :
. Ji Gu
participated in the Revoﬁt_e Sitarampant and Ramji Shirgq] of Sawantwadi also

Answer Options :
(1) Only a and ¢
(2)

(3) Onlya, candd @ Only b, ¢ and d
T BTHIATS! ST | SPACE FOR ROUGH WORK Only ¢ and ¢
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Which one of the followi
earthquake in India ?

(1) The Zone of Peningula

(2) Himalayan Belt from
(3) Central Zone
(4) Ganga Plain

ng regions indicates the example of high intensity zone of

Kashmir to Assam

p—
———

77, 2011 =1 SEUAYAT HeRTST AT Ho/ A aE g S/ ?
3. TE AIREEEl Taha 45-23 IR,
&, HEWSET AT SrhEEd S T STl
%, WERTSIE A AEE 5,08,27,500 ST R
T w@aw%ﬁmﬁmﬁmﬁmmwﬂ%-
gt I
(1) wad A M
(2 wF®
(3) @ A P
(4) WH4d S

ch sentences is/are false for urbanization in Maharashtra ?

As per 2011 Census, whi T
a. The percentage of urban population 18 45-23._
b Maharashtra stands third in urban population.

= U.lat-lon f : ] b ]
d- The

Answer Options:
(1) Onlyaandb
(2) Onlyc

(3) Onlya and ¢

SRk P.T.O.
Foea) raTaTdl S / SPACE FOR ROUGH WORK |

on level is in the
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78.  weTTiEe Fefged Ao 3 s 717 T
i o
- . T
a. A I farg
F Tz [, #E
2. Igq973 V. dacl
TatHt 39 ;
5 T & s
(1) 1 111 v I
A2 1 11 v
(3) III v I II
4) IV II m I

Match the correct pairs of Irrigation Schemes and Districts in Maharashtra :

District Irrigation Scheme
a. Satara I.  Mukane
b.  Nashik II.  Vishnupuri
¢.  Nanded III. Kanher
d.  Yavatmal IV. Bembala
Answer Options : '
a b c d
L I m oy g
(2) III I 11 v
3 o v g I

4) Iv I 11 I
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(1) oty T Tehea o -
T, qyf o WWWWW"
(2) m‘aﬁ.m s "5

A

tributari "8 optio ;
utaries of Goday ns shows the correct ascending order by length of the

anr ]‘iver ?

(1) Pranhj
ranhita, Pravara._ Wardha M
» Manjra

] ]

(4)  Manjra, Pravara, Wardha, Pranhit
; ita

(2) Manjra, Wardha

gl. Ha1 FfifdreR smufm -
o5 E=f Fer 0 RRIST=AT 21 Fffepoomen G@ier ool A A 7a9as 79 1938
(1) gr ?ﬁm (2) . St smfon =i 4
(9 = e (4) . =g st =i T

On the basis of soil formation, the first detailed and scientific soil classification of
Maharashtra was done in 1938 by :

(1) Dr.D. Smith
(3) Dr. Dokuchaev

89,  mERTZIAIE i SE frTeer Ao i’ We G B @rs FHoren ?
(1) m,mwﬁrwﬁa@

(2) Dr. Kellogg and Dr. Thorp
(4) Dr. Basu and Dr. Shirur

) e, aw S A | .
d in the «Central Konkan' of Maharashtras Konkan

Which cr :
Regional Division - '
(1) Deogarh, Achara and Karli creeks

|shi creeks
; i, Bankot and Ke
(2) Rajapurl el d Terekhol creeks

jware creeks
R
P.T.O.

eeks are include
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83. ?faﬁﬂﬂanﬁrﬁﬁm'aawgﬁ y ezt
NECER e
(1) 33 39 LC) - ! H%
v - lands are separated by
inicoy islan
The Laccadive islands and Minic | e
(2) Nine Degre .
(1)  Eight Degree Channel g
e gT‘eCh el (4) Zero Degree Chann
(3) TEI] Deg—reE ant o
it wr o Bqn s
84. WA, Frawul e game alebOIHET, T fpmdiatier #aF
o) o Y FAH AR 7
(1) & g gamH

(2) I HRaeig = gaHH
(3) 3w ety qEEE (W) gEHH

(4) 39w Seaey o gamE

As per G.T. Trewartha’s climate classification, Western Coastal Plain and Tripura
State exhibit which of the following types of climate ?

(1) Humid Mountain Climate

(2) Tropical Arid Climate

(3) Tropical Monsoon Climate

(4) Humid Sub-tropical Climate
_\.——‘—-—\\

(3) 85% ‘
i 4) 959

Which of the foll R
i orowing percentage Indicates the Proporti
arashtra from North-Westem Roon 7 POrtion of raip received in

(L 58%
(2) 659

Scanned with CamScanner



86.

35 |
u14
aftn Jer fvern FEE 5 g

(3) aﬁmﬁﬁﬁ“’rﬁm

was introduced i ; 3
bank customer disputes ed in 1995 for inexpensive and speedy settlement of

(1)  Prudential Norms
(2)  Customer Service Committee
(3) Banking Ombudsman Scheme

(4) International Accounting Practices

87.

e faun fa=ma =
W, TR, YA SR AT 1948 e T Jer Aadr G e

5. - 77 giudwer o1, 6@, seeEitE, W€, mefie i WL .S AR, 1@ A=
*. Wwaﬁ?ﬂmmmlgmnﬁaﬁﬁﬁnmmﬁn@m_

ot Tt faERiTH HvE /e faae gee /e ?

gatdt I

(1) w3

(3) Had A M0 F

(2) e 3 T
(4) Wad & AT F

Consider the following statements :
4. After Independence, the Government of India appointed the National Income

Committee in August, 1948.
b. The committee consisted of Prof. P.C. Mahalanobis, Prof. D.

Prof. V.K.R.V. Rao.
.  The first-report of the National Income Committe¢ appeare

final report in 1954.
Which of the statements give

Answer Options :
(1) Onlya (2) Onlyaandb
(4) Onlybandc

R. Gadgil and

d in 1951 and the

n above is/are incorrect ?

(3) Onlyaandec
P.T.O.

o] HTATSr ST | SPACE FOR ROUGH WORK
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the promotion of

= T Wi o, al areas.
agriculture and allied activities 1n rur

(1)  Reserve Bank

(2) State Bank of India

(3) NABARD
(4)  All of the above

29
FET FefEEeT 2021 — 22 HE thy TEHTEAT A1 Fdid HIST G HIUAT T2

89,
(1) % affor Far &
(2) = =u Ify 3R R
(3) ureiER
(4) FMNE =

What is the biggest source of income for the Central Government in the Union
Budget 2021 - 22 ?

9/ GST

(2)  Borrowing and other liabilities
(3) Income Tax
(4) Corporate Tax

90. 2OHWMW : M

() 117 yfa =, fop oy,
(3) 282 gfq =, fop oy

According to the 2011 Census, the deng;
(1) 117 per 8q. km,
(3) 282 per $q. km,

- 4) 389 '
TR DIHTHIS! ST | SPACE FOR ROUGH Womg Per sq. kpy,
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9. Yafe S
méﬁwam 5 : u14

Which  of the

followin et
characteristics of India’ ng statements is not correct regarding qualitative
(1) There is positj 1a’s population and urbanisation ?
itive co- :
@) Mhiere s ins ; ve co .relatmn between per capital income and urbanisation.
(8) Thereisj ‘O"rel'c?‘b'mn between urbanisation and employment.
@) nerease in standard of living with urbanisation.

There is -
negat : . 2 3 p
POVertyline_g ive relationship between urbanisation and population below

92. YA =md
S O Wi AT HOET AT @ GEEE F A e

3R ?
(1) =33« %3 (2) TETEA ST
31 Resl Al - (4) e FHT

Which of the following market segments is growth and profit oriented in the Indian
Commercial Banking System ?
(1) Mutual Funds (2) Mobile Banking

(3) Retail Banking (4) Internet Banking

93. Wmmmﬁﬁmmm.mw:

3. i 9Zh 4.  HHES
. HEATHS FZh z. fa=a gfawm
et 3 : | |

(1) ea A A0 F (2) T 3 A S
(3) Ed A A (4) HEd % M S

ulture is mainly dependent on two sets of factors. Those

Productivity in Indian agric

are :
a. Technological Factors

c. Institutional Factors
Answer Options : pr
(2) Onlyaandd

(1) Onlyaandc .
(3) Onlyaandb (4) Onlycandd
P.T.O.

szl FTaTATd! ST / SPACE FOR ROUGH WORK

b. Human Resource
d. Irrigation Facilities
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38 - ﬁ—u-r;.ﬁ ifr AT
u14 ) sygemd &g, 2003 £l e/ sfori
ayrfor 3TGTAT
M.  arfed fad TEEE
fafeaa &
STR/3R ? mmﬁgm

S TS S HEHT

vt I (2) affeid @d

(1) Sl uahel T8l (4) wad % A0S ibility and Budget
(3)  Wad 37 aifoT & ives of Fiscal Respons

Which of the following is/are the object i
. aata BIO§ nt borrowings under a time-bound progra "
To set limits on governme

: i i wn fi | deficits. ‘
g To achieve zero revenue deficit and‘lla)lrmfg do. 181 1§ca £ . .
‘ : ; responsible for ensurin ng term ma nom

To make the government g

C.
ili . ment.
?xt?s;fyl\tlyng transparency in the fiscal operations of the govern

Answer Options :
(1)  None of the above (2) All of the g}(aiov.e
(3) Onlyaandb (4) Onlycan

95.  WRATHS fa¥y snfife dmr Wi FE T 3y 78 2
(1) Ser 3reies o semar=h ffife
(2) ﬁ?ﬂFﬁFﬂEﬁF@li’%q
(3) =T fawg

(4) TR fffe : _
llowing is not an important objective of Special Economic Zones in

Which of the fo
India ?
(1)  Generation of additional economic activity

(2)  Promotion of export
(3)  Development of agriculture
(4)  Creation of employment

96. 71 fesren |
:7;"3?‘33? 1% qﬂm@aﬁ@mm%ﬂamoomwh
(1) ©Faq (2) % gfey 3)  TF gz 4) v femg

The infant mortality rate ig the n .
age in a given geographica] area duL;?:lbge; ;fvgia;ZZrOf chligren under of
(1)  One year (2) One Mmonth (g3 ne ;Vp;le; 00 h(\;? berths.d
ne day
SO () — T G
wwy A 7 (SThi% 2020-21) ey o Hfefeh gt

(D U-smarry |
(2) S-3mpmy 3) Vs @ g

According {, Chief Econgpm:
¥ Omic Aqy; .
Eivey o0 1Sor Kpj
ey 2020-21), what may be the shape ofEShnarn'urthy SUbramaniam (Economic
(@) Wahons 2 Shy o Conomje Tecovery 9

PRI PTATRITS ST / SPACE Fop RO . V-shape Z-shape
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9. AT 3y arsien, 20 Ut
1) 5%3 950 ; 2omwmamm%mmuﬁm
What is the r, f‘(z) i (3) 6% 30% 4) 5%A20%
= range of t . : ‘
India ? g tax rates for taxable income as per the Union Budget, 2020 of
(1) 5 -
% to 25% (2) 5% to 35% (3) 5% to 30% (4) 5% to 20%

L T
99, Wwﬁvﬁaﬁmaﬂ%ﬁ?

. NI R e whieh s o s gatn e .
: Wﬂamﬁﬁmamﬂaﬁmm.
. YRarie 9 faorsr @9 g
e HUTYTIHITH 3717,
(1) w59 JFanfor v (2) %ad & 70T =
(3) wFg F FftT F (4) Tl s T

Which of the following statements are correct ?
The price of electricity for Indian households is lowest in the world.

a.
b.  The price of electricity for Indian industries is highest in the world.
¢.  Cost recovery in distribution of power is satisfactory in India.
Answer Options :
(1) Onlyaandb (2) Onlybandec

(4) None of the above

(3) Onlyaandec

100. Wi fagr faem =
9. SN A agea fEfa snfor s fafme quieR R @ fEedn
TUITECEAT HeuTd HaTd.

F. SO AR SHTERAN=AT 714 A A1 TGl HedT .

T oo fgm/fAamid wive faum/faam stet sme/amed ?

gt I :
(1) b« & (2) e H
(3) S &H (4) e 37 MM &

Consider the following statements :
International trade is based on differences in prices of goods and services from

a.
country to country. ‘
The terms of trade refer to the exchange ratio of export and import goods or

b.
their price ratio. i i )
The Balance of Payments record in International Trade is maintained in a

e '
standard double entry book-keeping method.
Which of the statements given above is/are correct ?

Answer Options :
(1) All of the above (2) Onlya
(3) Onlyc (4) Onlyaandb
P.T.O.
ozar] TATAEY ST | SPACE FOR ROUGH WORK
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a0 —

(Q-Blmg% .....
Soe fiftre wriiE F= P (T5 5%) w3, ywnfeasaataie Iwatea 1 73
AR, 7 TS w3 AN A A

¥ Wﬁzfa#mmﬁﬁf‘ﬁm < A J
mm‘wmwmmmﬁm-w”mwm
Waﬁaﬁmﬂmﬁ@mmmﬁwﬁmmmmmmm

IF e LR
9 Wmmﬁﬁﬁ*ﬁ%ww#rmﬁmmmm
S SE Tl R, WA UQSTRETETE WvETR stmammy smoem TEeRREST 9Ll

T arTeS 7 PraeT T w0 ATV AL

¥. . 201.

3. #%. 201.

el U9sy
T ST TR FOAEE B GG TIH Fe 2
(1) =i gEEg _ (2) $varaz fammmm
(8) T THEIEA UF (4)  TTEH TrEe
mmﬁmw“(a)wmﬁa”a@m.E@émmw“rsj”m.
IS EIAGTE S 3. 201 FAE Swmas “(3)” 3 wds pie oEiea 5
TE0 HTEH AR,
@ @ @ ®
TGSl 1 N SEEAEEAE SEe 94e T sEied $e5 TEeE. et
FE WAl S ATeTUA AT, Uf=ge 91 v 9= 319s T3,

- =

oA BTHRATS! STT9TT | SPACE FOR ROUGH WORK
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